Panaji, 29th January, 2024 (Magha 9, 1945)

SERIES I No. 43

(TAZE) GOVERNMENT OF GOA

PUBLISHED BY AUTHORITY

EXTRAORDINARY

GOVERNMENT OF GOA

Department of Co-operation Office of the Registrar of Co-operative Societies

Notification

42/2/2001/TS/RCS(Suppl.)/Vol. I

The following draft Rules which the Government of Goa propose to make in exercise of the powers conferred by sub-sections (1) and (2) of section 127 of the Goa Co-operative Societies Act, 2001 (Goa Act 36 of 2001) so as to further amend the Goa Co-operative Societies Rules, 2003 are hereby pre-published as required by sub-section (3) of section 127 of the said Act for information of all persons likely to be affected thereby and notice is hereby given that the said draft rules will be taken into consideration by the Government after expiry of 15 days from the date of publication of this Notification in the Official Gazette.

All objections and suggestions to the said draft rules may be forwarded to the Registrar of Co-operative Societies and ex officio Joint Secretary, Department of Co-operation, 4th floor, 'Sahakar Sankul', Patto Plaza, Panaji, Goa, before the expiry of the said period of 15 days so that they may be taken into consideration at the time of finalization of the said draft rules.

DRAFT RULES

In exercise of the powers conferred by subsections (1) and (2) of section 127 of the Goa Co-operative Societies Act, 2001 (Goa

Act No. 36 of 2001) and all other powers enabling it in this behalf, the Government of Goa hereby make the following rules so as to further amend the Goa Co-operative Societies Rules, 2003, namely:-

- (1) Short title and commencement.— (1) These rules may be called the Goa Co-operative Societies (Fifth Amendment) Rules, 2024.
- (2) They shall come into force on the date of their final publication in the Official Gazette.
- (2) Substitution of rule 134.— For rule 134 of the Goa Co-operative Societies Rules, 2003, the following rule shall be substituted, namely:-
 - "134. Fee and premium for transfer of shares or interest of the member.— (1) A member whose application for transfer of shares and occupancy right in the plot of land/housing unit/commercial unit where the landed property is owned by the co-ownership or co-partnership housing society is accepted by the society, shall pay:-
 - (a) fixed transfer fee of Rs. 2,000/-(Rupees two thousand only) to the society; and
 - (b) an amount of premium to the society at the rate up to 2% of the market value of such plot of land/housing unit/ /commercial unit as on the date of effecting transfer of share/interest.

- (2) The society shall pay Rs. 10,000/- (Rupees ten thousand only) to the Government, out of the premium amount collected. The said amount of Rs. 10,000/- shall be deposited by the concerned society by way of e-challan directly into the Government Treasury within a period of 15 days from the date of receipt of such amount from member and e-receipt thereof shall be submitted to the Registrar.
- (3) Any transfer of share or interest of the member approved by the society in contravention of sub-rule (1) and (2) shall be ab-initio null and void.
- (4) Where the society fails to deposit the amount in the Government Treasury as specified in sub-rule (2), such amount shall be recovered by the Registrar from the society, along with interest at the rate of four percent as an arrears of land revenue, without prejudice to other mode of recovery.".

By order and in the name of the Governor of Goa.

Arvind V. Bugde, Registrar of Co-operative Societies & ex officio Joint Secretary (Co-operation). Panaji, 29th January, 2024.

-



Notification

1-174-2021-22/DSSL/Part-IV/4074

In exercise of the powers conferred by sub-rule (1) of rule 6 of the Goa Lotteries (Regulation) Rules, 2003, read with rule 3 of the Lotteries (Regulation) Rules, 2010, the Government of Goa hereby frames the following lottery scheme, namely:—

GOA STATE LOTTERIES RAJSHREE HOLI SPECIAL 1ST DRAW ON 29-03-2024 (FRIDAY)

RANK	No. OF PRIZES	PRIZE AMOUNT	TOTAL PRIZE AMOUNT	DRAW METHOD
1st	1	1,00,00,000	1,00,00,000	On one time on 5 digits with series.
CONS	4	2,00,000	8,00,000	Applicable on all remaining series of first prize winning number.
2nd	100	1,00,000	1,00,00,000	On 2 times on 4 digits without series.
3rd	1000	7,100	71,00,000	On 20 times on 4 digits without series.
4th	1000	5,000	50,00,000	On 20 times on 4 digits without series.
5th	1000	2,500	25,00,000	On 20 times on 4 digits without series.
6th	1000	1,000	10,00,000	On 20 times on 4 digits without series.
7th	25000	500	1,25,00,000	On 500 times on 4 digits without series.
TOTAL	29,105		4,89,00,000	

(a) The name of the lottery or lottery scheme

: RAJSHREE HOLI SPECIAL.

(b) M.R.P. of each ticket

: Rs. 250/-.

(c) Total number of tickets printed in case of paper lottery :

Total Tickets: 500000

: Series : ABCDE Numbering : 00000 to 99999.

(d) MRP value of the tickets printed

: Rs. 12,50,00,000/- (Twelve crore fifty lakh only).

(e) Face value of the tickets (MRP less GST): Rs. 9,76,56,250/- (Rupees nine crore seventy six lakh

fifty six thousand two hundred fifty only).

(f) Name or names of the distributor or selling agent with their address and contact information

Sole Purchaser : M/s. Summit Online Trade Solutions Pvt. Ltd.

G-1, A Wing, Austin Plaza, Altinho, Panaji (Goa) – 403001.

E-mail: contact@sugaldamani.com

Area Distributor: M/s. Serenity Trades Pvt. Ltd., Maharashtra, Punjab, Goa & Sikkim.

(g) Prize Structure : As mentioned above.
(h) The amount offered as prize money : As mentioned above.
(i) Periodicity of the draw : Holi Special (One Draw).
(j) Draw time : 06.30 p.m. onwards.

(k) The place where the draw shall be conducted:

Directorate of Small Savings & Lotteries, Serra Building, Altinho, Panaji, Goa.

- (l) The procedure for drawing the prize winning tickets or prize winners: As mentioned above. Prizes are drawn using a draw machine as stipulated in Lotteries (Regulation) Rules, 2010, the Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (m) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes of selected rank.
- (n) The distributor and their sub-distributor/promoter/sub-agents/retailers are authorized to make payment of prizes up to Rs.10,000/- on behalf of Govt. of Goa.
- (o) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, and the Lotteries (Regulation) Rules, 2010, the Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (p) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, Time of Draw, Lottery Number with Series, QR Code or Bar Code.

Note: Details of Unsold Tickets, if any, shall be intimated by the Distributor before 5 minutes of the Draw Time by means of electronic media or internet or physically.

By order and in the name of the Governor of Goa.

Pranab G. Bhat, Under Secretary, Finance (R&C).

Porvorim, 29th January, 2024.

Notification

1-174-2021-22/DSSL/Part-IV/4075

In exercise of the powers conferred by sub-rule (1) of rule 6 of the Goa Lotteries (Regulation) Rules, 2003, read with rule 3 of the Lotteries (Regulation) Rules, 2010, the Government of Goa hereby frames the following lottery scheme, namely:—

GOA STATE LOTTERIES RAJSHREE GUDI PADWA BAISAKHI SPECIAL 1ST DRAW ON 29-04-2024 (MONDAY)

RANK	No. OF PRIZES	PRIZE AMOUNT	TOTAL PRIZE AMOUNT	DRAW METHOD
1	2	3	4	5
1st	1	1,00,00,000	1,00,00,000	On one time on 5 digits with series.
CONS	4	2,00,000	8,00,000	Applicable on all remaining series of first prize winning number.
2nd	100	1,00,000	1,00,00,000	On 2 times on 4 digits without series.
3rd	1000	7,100	71,00,000	On 20 times on 4 digits without series.
4th	1000	5,000	50,00,000	On 20 times on 4 digits without series.

SERIES I No. 43

1	2	3	4	5
5th	1000	2,500	25,00,000	On 20 times on 4 digits without series.
6th	1000	1,000	10,00,000	On 20 times on 4 digits without series.
7th	25000	500	1,25,00,000	On 500 times on 4 digits without series.
TOTAL	29,105		4,89,00,000	

(a) The name of the lottery or lottery scheme

: RAJSHREE GUDI PADWA

BAISAKHI SPECIAL.

(b) M.R.P. of each ticket

: Rs. 250/-.

(c) Total number of tickets printed in case of paper lottery :

Total Tickets: 500000 : Series : ABCDE Numbering: 00000 to 99999.

(d) MRP value of the tickets printed : Rs. 12,50,00,000/- (Twelve crore fifty lakh only).

(e) Face value of the tickets (MRP less GST) : Rs. 9,76,56,250/- (Rupees nine crore seventy six lakh

fifty six thousand two hundred fifty only).

(f) Name or names of the distributor or selling agent with their address and contact information

Sole Purchaser: M/s. Summit Online Trade Solutions Pvt. Ltd.

G-1, A Wing, Austin Plaza, Altinho, Panaji (Goa) - 403001.

E-mail: contact@sugaldamani.com

Area Distributor: M/s. Serenity Trades Pvt. Ltd., Maharashtra, Punjab, Goa & Sikkim.

(g) Prize Structure : As mentioned above.(h) The amount offered as prize money : As mentioned above.

(i) Periodicity of the draw : Gudi Padwa Baisakhi Special (One Draw).

(j) Draw Time : 06.30 p.m. onwards.

(k) The place where the draw shall be conducted:

Directorate of Small Savings & Lotteries, Serra Building, Altinho, Panaji, Goa.

- (l) The procedure for drawing the prize winning tickets or prize winners: As mentioned above. Prizes are drawn using a draw machine as stipulated in Lotteries (Regulation) Rules, 2010, the Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (m) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes of selected rank.
- (n) The distributor and their sub-distributor/promoter/sub-agents/retailers are authorized to make payment of prizes upto Rs. 10,000/- on behalf of Govt. of Goa.
- (o) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, and the Lotteries (Regulation) Rules, 2010, the Goa Lotteries (Regulation) Rules, 2003, the Goa Computerized Network Lottery Rules, 2003 and amendments made thereunder.
- (p) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, Time of Draw, Lottery Number with Series, QR Code or Bar Code.

Note: Details of Unsold Tickets, if any, shall be intimated by the Distributor before 5 minutes of the Draw Time by means of electronic media or internet or physically.

By order and in the name of the Governor of Goa.

Pranab G. Bhat, Under Secretary, Finance (R&C).

Porvorim, 29th January, 2024.

www.goaprintingpress.gov.in

Printed and Published by the Director, Printing & Stationery,
Government Printing Press,
Mahatma Gandhi Road, Panaji-Goa 403 001.

PRICE - Rs. 4.00

PRINTED AT THE GOVERNMENT PRINTING PRESS, PANAJI-GOA—383/100—1/2024.